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SHE7 ZSst=X| Helgt £ o B2 X8 sfdsiziH &HallZU 4= %28 & elsHor &Lt

EFII MYEE|DT SEE A|TSHX| 2= B2 EF A keepalive HA|X|7} &

40

—=|| ST —
LICt. 0|24t keepalivesE= EZI HAZEES &0lstn o= R e (S HEE 7F_'“:E*E*L—llil'.OIE-I?_
keepaliveE = 215}+2{™ debug vpm S|gna HES AMErLICE EE&'EUP E'—*E < debug vpm B
9| £342 debug vpm port x BHE S M2 A™stH E32 HU T EZ X&He = U&LICH 047]AM
X' 2Ael 28 ZEQLICLOE2 E ZEE £ i A™E debug vpm signal BHE o E24Q/L|

CH.

21:18:12: [3/0:10(11)] send to dsp sig DCBA state 0x0
21:18:12: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
21:18:12: [3/0:12(13)] rcv fromdsp SI G DCBA state 0x0
21:18:12: [3/0:20(21)] rcv fromdsp SI G DCBA state 0x0
21:18:12: [3/0:12(13)] send to dsp SI G DCBA state 0x0
21:18:12: [3/0:20(21)] send to dsp SI G DCBA state 0x0
21:18:12: [3/0:0(1)] send to dsp SIG DCBA state 0x0
21:18:12: [3/0:3(4)] rcv fromdsp SIG DCBA state 0x0
21:18:12: [3/0:9(10)] rcv fromdsp SI G DCBA state 0x0
21:18:12: [3/0:3(4)] send to dsp SIG DCBA state 0x0
21:18:13: [3/0:9(10)] send to dsp SIG DCBA state 0x0
21:18:13: [3/0:19(20)] rcv fromdsp SI G DCBA state 0x0

debug vpm port x B E AtE5t0{ O|& X|ghst™ CHZ ol 20| ClH2 7} s A5t 7[7F EW £
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ElLct.

21:21:08: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
21:21:12: [3/0:0(1)] send to dsp SI G DCBA state 0xO0
21:21:13: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
21:21:17: [3/0:0(1)] send to dsp SI G DCBA state 0xO0
21:21:18: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
21:21:22: [3/0:0(1)] send to dsp SI G DCBA state 0xO0
21:21:23: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
21:21:27: [3/0:0(1)] send to dsp SI G DCBA state 0xO0
21:21:28: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
21:21:32: [3/0:0(1)] send to dsp SI G DCBA state 0x0

keepaliveE 5X0ICH S |1 4= AEILICH "sent to dsp" 2! "received from dsp"E2H= & 0{E Cisco
10S® B &0l M KB ELICHDSPE PBXE CH&I5H0d o OlaE 4= QTS gLchEH 0 #50|
e S0t EAIZ|E HAIX|ILICHkeepalive HIAIX|E E5H 3|22 ZF 2o U= 2IRE{7I EZH T}
OFX' s U2 & = JUaLct ol HAIX| & 5747t 3t 22 T2 2 EZI 7t CHRELICH Q!
= o|'L_|'._ EFII HEQIOM X&Hoz Z&ste ZARULICH 24 E- T keepalive7t S
gl £ AME[=KX| 21524 debug vpm trunk-sc HEg AlgetL|Ct. 0] |:||:|-|:L._ EE 3 keepalive7t
TFEE K| 282 MM5HK| ot &LICt keepaliveZ7t =2 |42 [ debug vpm trunk-sc B&E &
249| of| ILCt.

22:22:38: 3/0:22(23): |ost Keepalive

22:22:38: 3/0:22(23): TRUNK_SC state : TRUNK_SC CONN_WO CLASS, event TRUNK RTC_LOST_KEEPALI VE
22:22:38: 3/0:22(23): trunk_rtc_set_AI'S on

22:22:38: 3/0:22(23): trunk_rtc_gen_pattern : SIG pattern 0x0

22:22:38: 3/0:22(23): TRUNK_SC, TRUNK_SC _CONN_ WO CLASS ==> TRUNK_SC_CONN_DEFAULT_I DLE
22:22:39: 3/0:13(14): lost Keepalive

22:22:39: 3/0:13(14): TRUNK_SC state : TRUNK_SC CONN_ WO CLASS, event TRUNK RTC_LOST_KEEPALI VE
22:22:39: 3/0:13(14): trunk_rtc_set_AI'S on

22:22:39: 3/0:13(14): trunk_rtc_gen_pattern : SIG pattern 0x0

22:22:39: 3/0:13(14): TRUNK_SC, TRUNK_SC CONN_ WO CLASS ==> TRUNK_SC_CONN_DEFAULT_I DLE

debug vpm trunk-sc BE 2 A [} £2I0| EA|Z|X| 2t 2™ keepalive7t F+2 E|X| o &LICH
keepallveﬂ FE oz 57He| =RA EHIAIXIW TEE WX EFATE 7 U&LICHE, EES
7t SEE|7| ©oi 25% S 23Z0| SElo{of TrLICE.

HE EEI ol QI EA|

54 EYT A4n e E7IXI HAv &

—— =

LIC}.
.Cisco 10S Software 12.27} E AL S [ 0|24t 2X|e
£ S3dll o|z{8t Helo] O] ZE EX|el Al CIAE = U&LICH 7Y eitx ol EX| & stLt
= pBX7} EEa °=|7='E = 5H 2I:IPEHI MESE BUle JULICLEHEIE Hed=s1 etR*E7H L

TolM S ST E TAISHE 20| T2 AZOI % PALICH I OfF HBE 2E #R0| £
37} WHEI OISR 0] WA AEIJ} YALICHIIE T2 EHERT ¥R EHIS A

1 ASste JYLC

28 HE AlE

Olz{#t 7150l SHHZ 7 S 52T 71 g Srelshof Bt

- Exd 3t AHEI}E LTH?show voice call summary EE 2 A™StT E-F A7 s connectep &
EHoll Q=X =HelghL|ct.
. DSP7t i g MelgLnt?

0 FOI5t2{™ show voice dsp B S A&BILICHDSPOAM *
2|El= 20| EAIZIX| b= Z

< VAD7I g8l miZlo] A E[7| & LIt VADE 11

|E
74
S


//www.cisco.com/en/US/docs/ios/12_1/debug/command/reference/dbdvpdn.html
//www.cisco.com/en/US/docs/ios/12_1/debug/command/reference/dbdvpdn.html
//www.cisco.com/en/US/docs/ios/12_1/debug/command/reference/dbdvpdn.html
//www.cisco.com/en/US/docs/ios/12_1/debug/command/reference/dbdvpdn.html

EHIE CtA| M-St CHA| #QlgtL|CH E 8t show call active voice brief 20| A
AR E-|7P &7 FﬁE EOolgtL|Ct ol B2 =8t EXle| &8t 2104 CHal VAD7P

.|
A
EHI3}
JCI-Eo Sk
o= T
HolA |3 S| e
EH3IE E_T’_ PBX 7J01| MYD|E AMSE *EH‘AEI—IEL

ﬂ:“éH
>0
o I
RaliE
hvd
_|
]
FH
l
°T"
C

d

42 Ed3 ZEJ} ot ZE0|M PBXQ|
I . OHE:L E&M 4 2X|E HEsted™ ot =21 E&M 2IE
O| &Qlx|1n NMCHZE &5t

ru

OOII rO

9'|_|

ir

Y

o

_E'_

0>|

o|+>|
2

o

S8 EZI AL EME
Ch3t ZOIMCHE Zoz a7 MEE I MSE 2
Ul M 2= Zd0| E4LCH

T E3 Eto|ZS [EidHoF 5

2

PBX0|| AZEl Bt PE{S| E2 2 S3tE AINFLICL

May 22 19:39:03.582: [3/0:0(1)] rcv fromdsp sig DCBA state 0x0

!--- It is in idle state. May 22 19:39:07.774: [3/0:0(1)] send to dsp SI G DCBA state 0x0 !/---
ABCD bits=0000. May 22 19:39:08.586: [3/0:0(1)] rcv fromdsp SI G DCBA state 0x0 My 22
19:39:12.778: [3/0:0(1)] send to dsp SIG DCBA state 0xO0 May 22 19:39:13.586: [3/0:0(1)] rcv from
dsp SI G DCBA state 0x0 May 22 19:39:17.777: [3/0:0(1)] send to dsp SI G DCBA state 0x0 May 22
19:39:18.593: [3/0:0(1)] rcv fromdsp SIG DCBA state Ox0 May 22 19:39:22.781: [3/0:0(1)] send to
dsp SI G DCBA state 0xO0 May 22 19:39:23.593: [3/0:0(1)] rcv fromdsp SI G DCBA state 0x0 May 22
19:39:27.781: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19:39:28.597: [3/0:0(1)] rcv from
dsp SI G DCBA state 0x0 May 22 19:39:32.785: [3/0:0(1)] send to dsp SI G DCBA state 0x0 May 22
19:39:33.597: [3/0:0(1)] rcv fromdsp SIG DCBA state Ox0 May 22 19:39:37.789: [3/0:0(1)] send to
dsp SI G DCBA state 0xO0 May 22 19:39:38.601: [3/0:0(1)] rcv fromdsp SI G DCBA state 0x0 May 22
19:39:39.777: [3/0:0(1)] rcv fromdsp SIG DCBA state Ox0 May 22 19:39:39.797: [3/0:0(1)] rcv
fromdsp SIG DCBA state 0x0 May 22 19:39:39.817: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF !/---
Receives off-hook from PBX, and passes to remote end. May 22 19:39:39.837: [3/0:0(1)] rcv from
dsp SI G DCBA state OxF May 22 19:39:39.857: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May 22
19:39:39.877: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:39.897: [3/0:0(1)] rcv
fromdsp SIG DCBA state OxF May 22 19:39:39.917: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May
22 19:39:39.937: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:39.957: [3/0:0(1)] rcv
fromdsp SIG DCBA state OxF May 22 19:39:39.977: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May
22 19:39:39.997: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:40.017: [3/0:0(1)] rcv
fromdsp SIG DCBA state OxF May 22 19:39:40.037: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May
22 19:39:40.057: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:40.077: [3/0:0(1)] rcv
fromdsp SIG DCBA state OxF May 22 19:39:40.089: [3/0:0(1)] send to dsp SI G DCBA state 0x0 May
22 19:39:40.097: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:40.109: [3/0:0(1)] send
to dsp SIG DCBA state OxO0 May 22 19:39:40.117: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF !---
Receiving wink from remote side, and passes to PBX. May 22 19:39:40.129: [3/0:0(1)] send to dsp
SI G DCBA state OxF May 22 19:39:40.137: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May 22

19: 39:40.149: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:40.157: [3/0:0(1)] rcv from
dsp SI G DCBA state OxF May 22 19:39:40.169: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22
19:39:40.177: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:40.189: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:40.197: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May 22
19: 39:40.213: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:40.217: [3/0:0(1)] rcv from
dsp SI G DCBA state OxF May 22 19:39:40.229: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22
19:39:40.237: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:40.249: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:40.257: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May 22
19: 39:40.269: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:40.289: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:40.309: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22
19:39:40.329: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:40.349: [3/0:0(1)] send to
dsp SIG DCBA state 0x0 !--- wink ended from remote side, and passes to PBX. May 22 19:39:40. 369:
[3/0:0(1)] send to dsp SIG DCBA state OxO0 May 22 19:39:40.389: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:40.409: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39: 40. 429:
[3/0:0(1)] send to dsp SIG DCBA state Ox0 May 22 19:39:40.449: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:40.469: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39: 40. 493:
[3/0:0(1)] send to dsp SIG DCBA state Ox0 May 22 19:39:40.509: [3/0:0(1)] send to dsp SI G DCBA
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state Ox0O May 22 19:39:40.529: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39: 40. 549:
[3/0:0(1)] send to dsp SIG DCBA state OxO0 May 22 19:39:40.569: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:40.589: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39:40. 613:
[3/0:0(1)] send to dsp SIG DCBA state OxO0 May 22 19:39:40.629: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:40.649: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39: 40. 669:
[3/0:0(1)] send to dsp SIG DCBA state OxO0 May 22 19:39:40.689: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:40.709: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39: 40. 729:
[3/0:0(1)] send to dsp SIG DCBA state Ox0 May 22 19:39:40.749: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:40.769: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39:45. 773:
[3/0:0(1)] send to dsp SIG DCBA state OxO0 May 22 19:39:50.081: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:39:50.101: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19: 39:50. 121:
[3/0:0(1)] send to dsp SIG DCBA state OxXF !--- wink ends, the remote end is now off-hook, the
conversation happens. May 22 19:39:50.141: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.161: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:50.181: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.197: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.221: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22 19:39:50.241: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.261: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.261: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:39:50.281: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.301: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.321: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:50.341: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.361: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.381: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:50.401: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.421: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.441: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:50.461: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.481: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.501: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:50.521: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:39:50.541: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 39:50.561: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:39:55.265: [3/0:0(1)] rcv from
dsp SI G DCBA state OxF May 22 19:39:55.561: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 40: 00. 269: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:40:00.565: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:40:05.268: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May 22
19: 40: 05.564: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:40:10.272: [3/0:0(1)] rcv from
dsp SI G DCBA state OxF May 22 19:40:10.568: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22

19: 40: 15.276: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:40:15.572: [3/0:0(1)] send to
dsp SI G DCBA state OxF May 22 19:40:19.676: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22
19:40:19.696: [3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19:40:19.716: [3/0:0(1)] send to
dsp SI G DCBA state 0x0 May 22 19:40:19.736: [3/0:0(1)] send to dsp SI G DCBA state 0x0 May 22
19:40:19.756: [3/0:0(1)] send to dsp SIG DCBA state 0xO0 May 22 19:40:19.776: [3/0:0(1)] send to
dsp SI G DCBA state 0x0 May 22 19:40:19.796: [3/0:0(1)] send to dsp SI G DCBA state 0x0 May 22
19:40:19.796: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:40:19.816: [3/0:0(1)] send to
dsp SI G DCBA state 0xO0 May 22 19:40:19.816: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF May 22
19:40:19.836: [3/0:0(1)] send to dsp SIG DCBA state 0xO0 May 22 19:40:19.836: [3/0:0(1)] rcv from
dsp SIG DCBA state 0x0 !--- Both side hung up, back to idle state. May 22 19: 40:19. 856:
[3/0:0(1)] send to dsp SIG DCBA state Ox0 May 22 19:40:19.856: [3/0:0(1)] rcv fromdsp SI G DCBA
state OxO May 22 19:40:19.876: [3/0:0(1)] send to dsp SIG DCBA state 0x0 May 22 19:40:19. 876:
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0O May 22 19:40:19.896: [3/0:0(1)] send to dsp SI G DCBA
state OxO May 22 19:40:19.896: [3/0:0(1)] rcv fromdsp SI G DCBA state 0OxO May 22 19:40: 19. 916:
[3/0:0(1)] send to dsp SIG DCBA state OxO0 May 22 19:40:19.916: [3/0:0(1)] rcv fromdsp SI G DCBA
state OxO May 22 19:40:19.936: [3/0:0(1)] send to dsp SIG DCBA state 0x0

O| £ 2 BtRE7} S8 SR 5= W2 E0{ELICI.NTP(Network Time Protocol)7t & 7|3HE L
C}.

May 22 19:39:03.582: [3/0:0(1)] send to dsp SIG DCBA state 0x0

May 22 19:39:07.774: [3/0:0(1)] rcv fromdsp SI G DCBA state 0x0

!--- Idle state, both side on-hook. May 22 19:39:08.586: [3/0:0(1)] send to dsp SIG DCBA state
0x0 May 22 19:39:12.774: [3/0:0(1)] rcv fromdsp SI G DCBA state 0x0 May 22 19: 39: 13. 586:
[3/0:0(1)] send to dsp SI G DCBA state 0x0 May 22 19:39:15.383: [1/0:0(1)] Signaling RTP packet
has no particle !--- You will see this message if you are running Cisco IOS !--- Software
Release 12.2(la) or later. It 1is not an error !--- message, it is a normal functioning state.
May 22 19:39:17.774: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19:39:18.590: [3/0:0(1)]
send to dsp SI G DCBA state 0xO May 22 19:39:22.778: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
May 22 19:39:23.594: [3/0:0(1)] send to dsp SI G DCBA state 0xO0 May 22 19:39:27.782: [3/0:0(1)]



rcv fromdsp SI G DCBA state 0OxO May 22 19: 39: 28. 598:
May 22 19:39:32.782: [3/0:0(1)]
send to dsp SI G DCBA state 0x0O May 22 19: 39
May 22 19:39:38.602: [3/0:0(1)] send to dsp
send to dsp SI G DCBA state 0x0O May 22 19: 39
May 22 19:39:39.818: [3/0:0(1)] send to dsp
is conveyed to the PBX. May 22 19:39: 39. 838:
19:39:39.858: [3/0:0(1)] send to dsp SI G DCBA state OxF My
dsp SI G DCBA state OxF May 22 19:39:39.898: [3/0:0(1)] send
19:39:39.918: [3/0:0(1)] send to dsp SI G DCBA state OxF My
dsp SI G DCBA state OxF May 22 19:39:39.958: [3/0:0(1)] send
19:39:39.978: [3/0:0(1)] send to dsp SI G DCBA state OxF My
dsp SI G DCBA state OxF May 22 19:39:40.018: [3/0:0(1)] send
19:39:40.038: [3/0:0(1)] send to dsp SI G DCBA state OxF May
dsp SI G DCBA state OxF May 22 19:39:40.078: [3/0:0(1)] send
19:39:40.090: [3/0:0(1)]
dsp SI G DCBA state OxF May 22 19: 39:40. 110:
19:39:40.118: [3/0:
dsp SI G DCBA state
SI G DCBA state OxF
19: 39: 40. 158: [3/0:
dsp SI G DCBA state
19:39:40.190: [3/0:
dsp SI G DCBA state
19: 39: 40. 218: [3/0:
dsp SI G DCBA state
19: 39: 40. 250: [3/0:
dsp SI G DCBA state OxF May 22 19: 39: 40. 270:
19:39:40.290: [3/0:0(1)]
fromdsp SIG DCBA state OxF May 22 19:39: 40. 330:
22 19:39:40.350: [3/0:0(1)]
answer. May 22 19:39:40.370: [3/0:0(1)]
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state Ox0O May 22 19:39:40.430: [3/0:0(1)]
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state OxO May 22 19:39:40.490: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state OxO May 22 19:39:40.550: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state OxO May 22 19:39:40.610: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state OxO May 22 19:39:40.670: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state OxO May 22 19:39:40.730: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40.
state Ox0 May 22 19: 39:45. 262:
[3/0:0(1)] rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 50.
state Ox0 May 22 19:39:50.097: [3/0:0(1)]
[3/0:0(1)]
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.177: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.237: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.277: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.337: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.397: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.457: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.
state OxF May 22 19:39:50.517: [3/0:0(1)] rcv fromdsp SIG
[3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19: 39: 50.

:37.786: [3/0:0(

1 39. 798:
SI G DCBA state

[3/0:0(1)]

May 22 19:39:40.150: [3/0:0(1)]
OxF May 22 19: 39: 40. 178:
0(1)]
OxF May 22 19:39:40.210: [3/0:0(1)]
OxF May 22 19: 39: 40. 238:
0(1)]
[3/0:0(1)]

[3/0:0(1)]

rcv fromdsp SI G DCBA state 0xO May 22 19: 39: 33. 598:

D]

SI G DCBA state 0x0 May 22 19:39:39.778:
[3/0:0(1)] send to dsp SI G DCBA state 0x0

OxF

22
to
22
to
22
to
22
to

rcv fromdsp SIG DCBA state 0x0 May 22 19: 39: 40. 098:
rcv fromdsp SIG DCBA state Ox0 May 22
0(1)] send to dsp SIG DCBA state OxF May 22 19: 39:40. 130:
OXF !--- Receive wink from PBX. May 22 19:39:40. 138:
rcv fromdsp SIG DCBA state OxF May 22
0(1)] send to dsp SIG DCBA state OxF May 22 19:39:40.170:
[3/0:0(1)] send to dsp SIG DCBA state OxF May 22
rcv fromdsp SIG DCBA state OxF May 22 19: 39: 40. 198:
rcv fromdsp SIG DCBA state OxF May 22
0(1)] send to dsp SIG DCBA state OxF May 22 19: 39:40. 230:
[3/0:0(1)] send to dsp SI G DCBA state OxF May 22
rcv fromdsp SIG DCBA state OxF May 22 19: 39: 40. 258:
rcv fromdsp SIG DCBA state OxF May 22
rcv fromdsp SIG DCBA state OxF May 22 19: 39: 40. 310:

[3/0:0(1)] send to dsp SI G DCBA state 0x0

[3/0:0(1)]
rcv fromdsp SI G DCBA state 0x0
[3/0:0(1)]

I -—- Remote side off-hook, this

[3/0:0(1)] send to dsp SIG DCBA state OxF May 22

19: 39: 39. 878:
dsp SI G DCBA
19: 39: 39. 938:
dsp SI G DCBA
19: 39: 39. 998:
dsp SI G DCBA
19: 39: 40. 058:
dsp SI G DCBA

[3/0:
state

[3/0:
state

[3/0:
state

0(1)] send
OxF May 22
0(1)] send
OxF May 22
0(1)] send
OxF May 22
[3/0:0(1)] send
state OxF May 22
[3/0:0(1)] send to

to
to
to

to

[3/0:0(1)] rcv from
[3/0:0(1)] send to dsp

[3/0:0(1)] rcv from
[3/0:0(1)] send to
[3/0:0(1)] rcv from
[3/0:0(1)] send to

[3/0:0(1)] rcv

rcv fromdsp SI G DCBA state OxF May

410:

rcv fromdsp SI G DCBA

470:

DCBA

530:

DCBA

590:

DCBA

650:

DCBA

710:

DCBA

770:

077:

157:

DCBA

217:

DCBA

261:

DCBA

317:

DCBA

377:

DCBA

437:

DCBA

497:

DCBA

557:

rcv fromdsp SIG DCBA state 0x0 !--- wink ended, waiting for an
rcv fromdsp SI G DCBA state 0x0O May 22 19: 39: 40. 390:

[3/0:0(1)] rcv fromdsp SI G DCBA
state Ox0 May 22 19: 39:40. 450:
[3/0:0(1)] rcv fromdsp SI G DCBA
state Ox0 May 22 19: 39:40. 510:
[3/0:0(1)] rcv fromdsp SI G DCBA
state Ox0 May 22 19: 39:40.570:
[3/0:0(1)] rcv fromdsp SI G DCBA
state Ox0 May 22 19: 39:40. 630:
[3/0:0(1)] rcv fromdsp SI G DCBA
state Ox0 May 22 19: 39:40. 690:
[3/0:0(1)] rcv fromdsp SI G DCBA
state Ox0 May 22 19: 39:40. 750:
[3/0:0(1)] rcv fromdsp SI G DCBA

[3/0:0(1)] send to dsp SIG DCBA state OxF May 22 19: 39:45. 770:

[3/0:0(1)] rcv fromdsp SI G DCBA

rcv fromdsp SI G DCBA state 0xO May 22 19: 39:50.117:
rcv fromdsp SIG DCBA state OxF !/--- Receive off-hook from PBX. May 22 19: 39:50. 137:

[3/0:0(1)] rcv fromdsp SI G DCBA
state OxF May 22 19:39:50. 197:
[3/0:0(1)] rcv fromdsp SI G DCBA
state OxF May 22 19:39:50. 257:
[3/0:0(1)] send to dsp SI G DCBA
state OxF May 22 19:39:50. 297:
[3/0:0(1)] rcv fromdsp SI G DCBA
state OxF May 22 19: 39:50. 357:
[3/0:0(1)] rcv fromdsp SI G DCBA
state OxF May 22 19:39:50.417:
[3/0:0(1)] rcv fromdsp SI G DCBA
state OxF May 22 19:39:50.477:
[3/0:0(1)] rcv fromdsp SI G DCBA
state OxF May 22 19: 39:50. 537:
[3/0:0(1)] rcv fromdsp SI G DCBA



state OxF !--- Both sides off-hook, the conversation happens. May 22 19:39:55.265: [3/0:0(1)]
send to dsp SI G DCBA state OxF May 22 19:39:55.557: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF
May 22 19:40:00.269: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22 19:40:00.561: [3/0:0(1)]
rcv fromdsp SIG DCBA state OxF May 22 19:40:05.269: [3/0:0(1)] send to dsp SI G DCBA state OxF
May 22 19:40:05.561: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:40:10.273: [3/0:0(1)]
send to dsp SI G DCBA state OxF May 22 19:40: 10.565: [3/0:0(1)] rcv fromdsp SI G DCBA state OxF
May 22 19:40:15.273: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22 19:40:15.569: [3/0:0(1)]
rcv fromdsp SIG DCBA state OxF May 22 19:40:19.673: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF
May 22 19:40:19.693: [3/0:0(1)] rcv fromdsp SIG DCBA state OxF May 22 19:40:19.713: [3/0:0(1)]
rcv fromdsp SIG DCBA state Ox0 May 22 19:40:19.733: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
May 22 19:40:19.753: [3/0:0(1)] rcv fromdsp SIG DCBA state Ox0 May 22 19:40:19.773: [3/0:0(1)]
rcv fromdsp SIG DCBA state Ox0 May 22 19:40:19.793: [3/0:0(1)] rcv fromdsp SIG DCBA state 0x0
May 22 19:40:19.797: [3/0:0(1)] send to dsp SI G DCBA state OxF May 22 19:40:19.813: [3/0:0(1)]
rcv fromdsp SIG DCBA state Ox0 May 22 19:40:19.817: [3/0:0(1)] send to dsp SI G DCBA state OxF
May 22 19:40:19.833: [3/0:0(1)] rcv fromdsp SIG DCBA state Ox0 May 22 19:40:19.837: [3/0:0(1)]
send to dsp SI G DCBA state Ox0 !--- Both sides are back on-hook, back to idle. May 22
19:40:19.853: [3/0:0(1)] rcv fromdsp SIG DCBA state Ox0 May 22 19:40:19.857: [3/0:0(1)] send to
dsp SI G DCBA state 0xO0 May 22 19:40:19.873: [3/0:0(1)] rcv fromdsp SI G DCBA state 0x0 May 22
19:40:19.877: [3/0:0(1)] send to dsp SIG DCBA state 0xO0 May 22 19:40:19.893: [3/0:0(1)] rcv from
dsp SI G DCBA state 0xO May 22 19:40:19.897: [3/0:0(1)] send to dsp SI G DCBA state 0x0

0| EH2EAM T AMSE AL P" 28 E-EI o] oM YM5t= AMEE Eo{FLICH

oletZ2 CIHOE APQ P" CHE Rl 4l K%EIE golg = AgLct8s7t SHEA d-

= 740(047|01I EANE) L 2C|271 R 0-|0|= grL|C}. Ol = show voice dsp T = show call active
voice brief B3H £232 E™ 20l = USLICLEE WOo| Yo 2 & &5t 7"7<-|E" = o|x|gt

Ol 21 9_475:'% S5 LI EXN|(RC|L &= B e ig)7t WMst= A< olz{et A2 CHA
OIS MAIR.

S5 T 48 Eol
Ed3 &3loll Clsl show call active voice 5= show voice call summary B3 £242 2= 20| &
| 2

E EX| AHU EX| L7 HE2O| B SEHE II% st 24 EEIE &elste ZheEh Eil
QEfLCHO[EA st= 7tE £ & & stLt= show voice trunk-conditioning signaling F&E 2
include OH7H =2 &7 M&et D ABCDE Z&E EXAE AFE5t 2L

Phoeni x#show voice trunk-conditioning signaling | include ABCD

| ast - TX- ABCD=0000, | ast- RX- ABCD=0000

| ast - TX- ABCD=0000, | ast- RX- ABCD=0000

| ast - TX- ABCD=0000, | ast - RX- ABCD=0000

| ast - TX- ABCD=0000, | ast - RX- ABCD=0000

| ast - TX- ABCD=0000, | ast - RX- ABCD=0000

| ast - TX- ABCD=0000, | ast- RX- ABCD=0000

| ast - TX- ABCD=0000, | ast - RX- ABCD=0000

| ast - TX- ABCD=1111, | ast - RX- ABCD=0000

I-—-- Timeslot 8. | ast-TX-ABCD=0000, | ast-RX- ABCD=0000 | ast-TX-ABCD=1111, | ast-RX-ABCD=1111 !---
Timeslot 10. | ast-TX- ABCD=0000, | ast-RX- ABCD=0000 | ast-TX- ABCD=0000, | ast- RX- ABCD=0000 | ast - TX-
ABCD=0000, | ast-RX- ABCD=0000 | ast- TX- ABCD=0000, | ast-RX- ABCD=0000 | ast - TX- ABCD=0000, | ast-RX-
ABCD=0000 | ast - TX- ABCD=0000, | ast - RX- ABCD=0000

0| EH2 EIY &% 100 EMEE SSI} EIH &R 8 1|A-I AIZHEICLE 838 EoiE L
Ch.o| BB E HLo| AHS5IE o] 7! ol Ciet HWEE BHE &= U&LICH

DTMF A a4

2T £3 U253 A3 2oz 2tRE7I PBX(2M Q) 7toll MY stE CHE U8t 742 DTMF
tEgeLchC| 7='§E ooz Udtxioz 2|7t o+|,|x|nr M7t A&LICELEN = 1Y
BEE Sl QC|IQE +=¥ste LAlo|A LMELICHNEESZ M7 flcl X2 HIE E 24
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&0l o3 MAE[ACH= ZWULICEDTMF (=& 2 ol2fet d12|Fo & HX| f2m 1Z40] g711
IHE AIE5HX| i B TEE dfedo| R LICh &2 dtmf-relay B@&30f QI&LICHO| 7|5
2 M-85t DSP7L ObX|2f ol Al &2 AlZHstT DTMF 2

2olg £+ &Lch 1M oS DSPE 7+ | 2t O] AZ &2 CHE 82l RTP(Real Time
Protocol) T{Z! == QLI AERN HE 2 I E Sl ME /= h245 HAIXIZ I EFLICEOlE
fax-relay 2! modem-relay BE | Hf F0f| Q= S LS T2 M A LT

0%
OII
1
=)
B

Ol 7|52 EEA EXM alidE @lsl = CHE ClHO EXME L HAZLICH S5 dH0| gl 2t E
Zt 2 AE RO sliiE HEE FESHoF st B o HEIF M ElEX| ofEH FHIE LI

o
70| QS A= YH2 ofH RE | dtmf B0l BHo| AHZEl=X|of et et Euc

O ool A2t Z 0| dtmf-relay cisco-rtp BHE2 & Cisco HO|ZE FHES AISI22 0|8 E2{™
DSPE ofzHE Arm{2olof & LICt.debug vpm signal B& debug vpm port x/xiy.z B& 1}t &7 Al
e = UAGLICHENLS| ZEZ E32 HMEhsty| flal). ol BH2 &l F 2| DSPoi| MEE =&t
E = = &LIcho| 82 & Fo| otL2t el Foll EA[ELICH
*Mar 1 00:22:39.592: htsp_digit_ready: digit = 31

*Mar 1 00:22:39.592: [1/0:1(2), S TRUNKED, E VTSP DI G T]

*Mar 1 00:22:40.021: htsp_digit_ready: digit = 32

*Mar 1 00:22:40.021: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:40.562: htsp_digit_ready: digit = 33

*Mar 1 00:22:40.562: [1/0:1(2), S TRUNKED, E VTSP DI G T]

*Mar 1 00:22:40.810: [1/0:1(2)] rcv fromdsp SIG DCBA state OxF

*Mar 1 00:22:41.131: htsp_digit_ready: digit = 34

*Mar 1 00:22:41.131: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:41.499: [1/0:1(2)] Signaling RTP packet has no partica
*Mar 1 00:22:41.499: [1/0:1(2)] send to dsp SI G DCBA state OxF

*Mar 1 00:22:41.672: htsp_digit_ready: digit = 35

*Mar 1 00:22:41.672: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:42.192: htsp_digit_ready: digit = 36

*Mar 1 00:22:42.192: [1/0:1(2), S_TRUNKED, E VTSP DI G T]

*Mar 1 00:22:42.789: htsp_digit_ready: digit = 37

*Mar 1 00:22:42.789: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:43.350: htsp_digit_ready: digit = 38

*Mar 1 00:22:43.350: [1/0:1(2), S TRUNKED, E VTSP DI G T]

*Mar 1 00:22:44.079: htsp_digit_ready: digit = 39

*Mar 1 00:22:44.079: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:45.249: htsp_digit_ready: digit = 30

*Mar 1 00:22:45.249: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:45.810: [1/0:1(2)] rcv fromdsp SIG DCBA state OxF

*Mar 1 00:22:46.007: htsp_digit_ready: digit = 2A

*Mar 1 00:22:46.011: [1/0:1(2), S _TRUNKED, E VTSP DI G T]

*Mar 1 00:22:46.572: [1/0:1(2)] Signaling RTP packet has no partica
*Mar 1 00:22:46.572: [1/0:1(2)] send to dsp SI G DCBA state OxF

*Mar 1 00:22:46.628: htsp_digit_ready: digit = 23

*Mar 1 00:22:46.628: [1/0:1(2), S TRUNKED, E VTSP DI G T]

*Mar 1 00:22:50.815: [1/0:1(2)] rcv fromdsp SIG DCBA state OxF
all digits 0-9 are represented by 30-39, * = 2A and # = 23.

dtmf-relay h245-8==X} BHE AL 5104 §el HoM o X7t MEE[=X| & Qlg + AU&LICH
.dtmf-relay h245-BA} BH2 h.24590| YAt FE S AL8dto ME5S TEELICHO| oA ol A
£ 7 AX 0| debug h245 asn1 BHO| & H=tr|M EFF o| A% Ht T2 ™

Al & = A&

HHol .

*Mar 1 00:34:17.749: H245 MSC QUTGO NG PDU : : =


//www.cisco.com/en/US/docs/ios/12_1/multiserv/command/reference/mrd_cb.html
//www.cisco.com/en/US/docs/ios/12_1/multiserv/command/reference/mrd_cb.html

val ue Mul ti nedi aSyst enControl Message ::= indication : userlnput : al phanumeric : "1"

*Mar 1 00: 34:17.749: H245 MSC OUTGO NG ENCODE BUFFER: : = 6D 400131

*Mar 1 00: 34:17. 753:

*Mar 1 00: 34:18.350: H245 MSC QUTGO NG PDU :: =

val ue Mul ti nedi aSyst enControl Message ::= indication : userlnput : al phanunmeric : "2"

*Mar 1 00: 34:18. 350: H245 MSC OQUTGO NG ENCODE BUFFER: : = 6D 400132

*Mar 1 00: 34:18. 350:

*Mar 1 00: 34:18.838: H245 MSC QUTGO NG PDU :: =

val ue Mul ti nedi aSyst enControl Message ::= indication : userlnput : al phanumeric : "3"

*Mar 1 00:34: 18.838: H245 MEC OUTGO NG ENCODE BUFFER : = 6D 400133
EF2 H:

*Mar 1 17:45:16.424: H245 MSC | NCOM NG ENCODE BUFFER : = 6D 400131

*Mar 1 17:45:16. 424:

*Mar 1 17:45:16.424: H245 MSC | NCOM NG PDU : : =

val ue Mul ti medi aSyst emControl Message ::= indication : userlnput : al phanuneric : "1"

*Mar 1 17:45:17.025: H245 MSC | NCOM NG ENCODE BUFFER : = 6D 400132

*Mar 1 17:45:17.025:

*Mar 1 17:45:17.025: H245 MSC | NCOM NG PDU : : =

val ue Mul ti medi aSyst emControl Message ::= indication : userlnput : al phanuneric : "2"

*Mar 1 17:45:17.514: H245 MSC | NCOM NG ENCODE BUFFER: : = 6D 400133

*Mar 1 17:45:17.514:

*Mar 1 17:45:17.514: H245 MSC | NCOM NG PDU :: =

val ue Mul ti nedi aSyst enControl Message ::= indication : userlnput : al phanuneric : "3"

dtmf-relay h h245-signal &2 0 R AFSHH dtmf-relay h h245-PxAF Hyn SUst CIHOE
MBE M & & UGLICL MM R dimf-relay BHEo = 47 EHIE EB{EwEsts A2 O
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